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There are 35 objective type questions in Paper-I (Part-A and Part-B).

Part-A contains 20 questions. Each question has FOUR options (1), (2), (3) and (4). ONLY ONE of these four options

is the correct answer. For each question, choose the option corresponding to the correct answer.

5. Answer to each
Full Marks: +1

question will be evaluated according to the following marking scheme:
If ONLY the correct option is chosen;

Zero Marks: 0 If none of the options is chosen (i.e., the question is unanswered);
Negative Marks: —0.25 In all other cases.

6. Part-B contains 15 questions. Each question has FOUR options (1), (2), (3) and (4). ONE OR MORE THAN ONE of
these four option(s) is (are) correct answer(s). For each question, choose option(s) corresponding to (all) the correct

answer(s).

Answer to each question will be evaluated according to the following marking scheme:

Full Marks: +2
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PART-A/ A

Directions (Questions 1-20): There are 20 Multiple Choice Questions (MCQs), and each question
carries 1 mark. All questions are compulsory.

e (srar 1-20): 3 20 515 Ifeae o7 (MCQs) 7, 3T T W47 1 37 1 7 9+t ey srfamd )

1.

Which is the oldest form of composition of Hindustani vocal music?

(1) Tappa (2) Dhrupad (3) Thumri (4) Khayal
fergEaTet TR Wt ohl ToT T Tee T 9 Shi-|7 7

(1) Zwr (2) gu (3) gt 4) =
The Maori are the indigenous people of which nation?

(1) Indonesia (2) Ghana (3) Columbia (4) New Zealand
TS forr w7 o e et 87

(1) sSHRmET (2) T (3) wiafeam (4) FsTrs
World's oldest cave painting was recently found in which country?

(1) India (2) China (3) Indonesia (4) Japan
i sht Frer qUt T e wret & H ferer < o fivedt €7

(1) wa (2) = (3) M (4) STa
'‘And the Show Goes On' was a documentary made by the BBC on which Indian filmmaker?
(1) Mrinal Sen (2) Raj Kapoor (3) Satyajit Ray (4) Dev Anand
TS 3 2 TS A forer Wl ot Tt ox sftefielt gRy oS 18 UeF S off?

(1) goret 8 (2) TS (3) Tersiia X (4) T 3T
The phenomenon that enables us to perceive motion is known as

(1) Entopic phenomenon. (2) Persistence of vision.

(3) Newton's first law. (4) Galileo's law of motion.

& AT S H T BT 1Y U § T ST 7, ATt &

(1) T ¥ | (2) gy i faeaar |

(3) I =TT [+ | (4) Trefiferan i o fem |

Dogri is primarily spoken in which State/UT of India?

(1) Punjab (2) Meghalaya

(3) Gujarat (4) Jammu & Kashmir
SIT 7 & § WA o Toh8 To21/oh5 T Ya2T H aelt St 87

(1) 95 (2) FETE

(3) TR (4) ST 3 TR

Leshalaptu is a folk dance of which Indian State?

(1) Nagaland (2) Kerala (3) Karnataka (4) Goa
AT foher R T2 T AT &7

(1) ATete (2) T (3) FATeH (4) Tmar
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8. What is the full form of AR which is fast becoming popular in the entertainment industry?

(1) Actual Reality (2) Arterial Realism

(3) Artificial Realism (4) Augmented Reality

T TR T 0T &G FT 2 S AT ST H St 8 AR &1 @187

(1) e Rafaer 2) s fafasy

(3) smicfeRrre fafasy (4) smmce fafadt
9.  Which of the following States has the longest coastline?

(1) Andhra Pradesh (2) Kerala (3) Maharashtra (4) Tamil Nadu

Fraferfaa & 9 forg Toa it qer@T ge@ et 27

(1) stigrwamr (2) 3) R @) afrerrg
10. Which of the following is used in writing pencil?

(1) Graphite (2) Silicon (3) Mica (4) Phosphorus

fora areft dfer # frmferfaa ® € ferarshr s foram stmar 87

(1) Bz Q) faferm (3) g @) rEE

11. Which was the most visited centrally-protected ticketed monument by foreign visitors, as per the
Indian Tourism statistics 20227
(1) Taj Mahal (2) Red Fort
(3) Group of monuments at Mamallapuram (4) Qutab Minar
TR e AiRerehl 2022 % SATHN, foreslt STiqent SRT @e® 31eres TR fohaT ST aTelT shs |Xerd feehe arer

TS ohi= T 9T?
(1) aTHES (2) et fera
(3) ATHCEAIH H TR 1 T (4) el HHAR

12. NESTS is an autonomous institution working under which Union Ministry?

(1) Ministry of Education (2) Ministry of Tribal Affairs
(3) Ministry of Culture (4) Ministry of External Affairs
NESTS ferer Shsiier HafTeter o STeaie ohrd ot SITetl Ueh ST HeT 27

(1) Tarer damer (2) SIS AT T HATET

(3) SR HAAT (4) T dame™

13. The Indian Space Research Organization has collaborated with which country to explore the Venus
and the dark side of the moon?

(1) USA (2) Japan (3) Australia (4) Russia
R STATET STTEI TS I[ph ST = 5T o 3T T& T IaqT T o6 ToAT, fofer <=1 o |rer JaT fopart 27
(1) 7T (2) ST (3) sfrezfer (4) =
14.  Who among the following prefers to appear on screen in his own directorial work.
(1) Alfred Hitchcock (2) Fransis Ford Coppola
(3) Akira Kurosawa (4) Majid Majidi

Freaffaa o g i ar e R | St 1ot fhert o Sh! Uk gieteh fe@s et =/ |
(1) TS femerie () FRmwEwter  (3) T e (4) wsfig st

13/()2

21/E/XXII/1 3



15.  Which of the following statements is not correct.
(1) The President of India is the head of government
(2) Writ Petitions can be field at the Supreme Court and High Court
(3) Access to drinking water is part of right to life
(4) International Peace is an aim mentioned in the constitution of India

frefafad wemt o & & ar w7 *7?

(1) VT o T TehT o AT |

(2) T e Hatea =mTer 37t 3= =T | gt shi 51T Heha & |
(3) I BT U Sfiae o SR T aT R |

(4) Tt Frifa et d@iaem § Stfaa twr e 7 |

16. What is the meaning of the word 'Moonlighting'?
(1) Lighting technique used by cinematographers.
(2) Doing additional second job.
(3) Driving at night.
(4) Enjoying the moonlight.
AT 3168 o 37 T 77
(1) TEEEITHR ST ST 6t ST It oATgieT Tohieh |
(2) AR THU HTH AT |
(3) T T TS <A™ T |
(4) ST T TS ST |

17. The Article 51A(h) in Indian Constitution is about
(1) to develop the scientific temper, humanism and the spirit of inquiry and reform.
(2) freedom to practice and propagation of religion subject to public order, morality and health.
(3) federalism as part of the basic structure.
(4) official language of the country.
TR e H =88 51T(TE) FaNH 7
(1) ST Hi=r, FaTaTg ST STe S AR sht | TorehRa T |
(2) HEISTIeh ST, AfcahaT ST ETE o SFeaiia g ol STTELT ST = L oht T |

(3) EodTE AT B T e R |
(4) T T [T |
18. FIH Men's World Cup 2023 Hockey Final was played between which countries?
(1) Australia vs New Zealand (2) Germany vs Belgium
(3) Argentina vs Netherlands (4) Spain vs South Africa
FIH Men's World Cup 2023 &feht ®Tset foh <t o sft=r @etr 7/r?
(1) Ao 3 =hcie & s (2) SHAT 3R AfesET & <t
(3) TSI 3T el &+ ot (4) TUT 3T F&I0T STShIeRT o Siter
19. Which of the following is Motto of Paralympic?
(1) To touch the sky with glory (2) To free the oppressed
(3) Spirit in motion (4) Service before self

Freferfaa & & i a1 tufifues o smest g 27
(1) TTIWE TR @R (2) T T STEs (3) Titfie g7 mee (4) afda & wR AT

20. Which is the happiest country in the world according to the World Happiness Report 20227

(1) Switzerland (2) New Zealand (3) Finland (4) Netherlands
TS AT RIS 2022 o STHI GHAT T Helel GRTETA G2 i |17
(1) feaestete (2) =ircte (3) fcte (4) Hfrewcte
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PART-B/ B

Directions (Questions 21-35): These questions are Subject Specific. There are 15 Multiple Select
Questions (MSQs), and each question carries 2 marks. Each question has four answer options and
question may have one or more than one correct answer options. All questions are compulsory.

for (war 21-35): % wan, forrer farfare 21 gue 15 g Snfoaes == w7 (MSQS) 2, 7% wedier war, 2 3ieh ot 8 Tk 95 &
I I ferehed & ST o Ueh AT Ueh & 37fereh, Tt I fashe &) woha 8| it o srfaamd B

21.

22,

23.

24,

25.

26.

Which of the following is/are professional colour(s) grading software(s)?

(1) Nucoda (2) Davinci Resolve  (3) Baselight (4) Cantarx 3
frefafad 5 & & 91/8 TrbeHe ol AT ditedww 2/27

(1) =ereT 2) et oo (3) ITETES (4) HTX3
Exposure can be controlled by

(1) f-stop. (2) shutter speed. (3) focal length. (4) view finder.
TSI Rl TRt fomam < HeRar & -

(1) TH-ET (2) e Tfd (3) BIHA A (4) gL

The sky looks blue because

(1) blue has the shortest wavelength. (2) of scattering of light.

(3) the colour temperature of blue is 5600 K. (4) red light has the shortest wave length.
STTeRTeT AT fohereh shoT fa@Ts gar &

(1) T g8 F TN R | (2) weRTST ot ferera

(3) et BT el 2= 5600 K 2 (4) AT T G HH ATA B

Which of the following are present in the human eye?

(1) Rods (2) Cones (3) Central fovea region (4) Vitreous humor
FfAia & & S w7 hr 311 H o & ?

(1) T (2) (3) Heerwifern o (4) fafer A
Fill light is used to

(1) manage the contrast. (2) separate the subject from background.
(3) litup the background. (4) alter the colour.

Tt TS ST SRINT et wTTaT 8

(1) T T Tl | (2) Torr =T OB & ST LT |

(3) IBVM T TRTRT AT | (4) TrEET |

Which of the following is/are correct?

(1) When we add all Red + Green and Blue pigments we get black colour.

(2) When we add all Red + Green and Blue light we get white colour.

(3) The dimmer the light, the wider the iris of our eyes become.

(4) Digital sensors inside DSLR cameras produce image as silver halide emulsion makes a latent
image.

ﬁm%%%rﬁﬁﬁqw@aﬁ%%?

(1) 5= &9 it ATt + & ST At T Sied &, 91 85 shrerr O fHerar 2|

(2) 5o B it AT + BT ST AT TehTar STed ® 86 Hvhe T fierar 2

(3) hTaT ST He BIaT B, BART SArEt it ST Sat & =l 8 St R

(4) STATASR T o ieX fefSeet e sfer 30 Fd 7 Fileh e SaTsS SR U TH S a1aT 2
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27,

28.

29.

30.

31.

When corrected to a normal image, under-exposure results in

(1) more apparent grain. (2) less apparent grain.

(3) richer blacks. (4) lower contrast.

ST e W Bfer § R form St R, 9 stet-uamaisK & gion /a8

(1) 3TfereR 3T I (2) T YL IT

(3) fretscrem (4) PHhgTeE

A plain mirror gives a/an

(1) virtual image. (2) real image.

(3) image flipped about horizontal axis. (4) image of the same size as the object.
T i ORI

(1) syt sf (2) aredtaes sfa

(3) ot afes s T Ty =t 8 (4) € GHTT SRR T FiTema

A camera lens focused at 100 m means,

(1) the focal length of the lens is 100 m.

(2) the distance from the camera sensor and the object to be photographed is 100 m.

(3) everything beyond 100 m will be in focus.

(4) object at 100 m distance and same area in front and behind the object will be in focus and rest of
the area will be out of focus.

100 FYeX TR hisd Teh hraT oid o1 319 7,

(1) < st Bioherera gl 100 HIT 2

(2) SFFHET SR BT =T arett aeg & gl 100 HeX =

(3) 100 Hie & TR |l % HIohE H 20|

(4) TG 100 FieT oht g T 7 S ] oh ST ST Ve THIT &7 I8 H BT ST I & Blohe ¥ aTeL sl

A painter chooses a vertical canvas for painting portraiture. Why is it that cinema screen is always
more in width than height?

(1) Composing portraiture in vertical canvas curtail unnecessary space.

(2) Human eyes give wide view in horizontal space than vertical.

(3) Painters use a wide canvas when they paint a landscape.

(4) Watching cinema in vertically tall frame will cause discomfort to the viewers.

T TomehTt ot T o T U wierara s <[aT =1 UeT it  fop T o1 ot s s @ stferes =iteT st 27
(1) SEITeR HTTTH T STT9H T T It AT & |

(2) TS 7 HEaTeR St Qe H AT €2 H forqd g o ¥ |

(3) Torep uah gy i Ferfm o e wep foreqa e T ST ot © |

(4) T T eTer Tiel T H QT § qRIoh ol STSeT B |

The colour of green chillies under sodium vapour lights will appear

(1) more enriched. (2) same.

(3) muddy brown. (4) there will be change in colour.
Tifezm au wmge # w4 fordd ot 7 T @

(1) sTRaTs (2) wAH

(3) WS A (4) TTH e g
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32.

33.

34.

35.

What shape(s) can be created out of the shadow of the cube on a plain wall which is at right angle to
the light rays?

(1) A rectangle (2) A square (3) A hexagon (4) Acircle
eRTST ToRUT 3F HHERITT STeH HHAE QT OX B Sh STT § HI-HT SRl ST ST Hehdl &7
(1) T s (2) Twa (3) TH VT (4) THIT

Statement X : Purpose of using spotlights on the performers on stage is to reveal them.
Statement Y : Mixture of red and green beams of light produces yellow.

Statement Z : In the profile of a very old man in silhouette, one can see all the details of wrinkles
and facial features.

Choose the correct option(s)

(1) Statement X is True and Statement Y is True

(2) Statement Y is False and Statement Z is False

(3) Statement Z is False and Statement X is True

(4) Statement Z is True and Statement Y is True

T X He T HATHRR T TUTCATIEH ShT ST A T Ie9d I78 Fohe T 2

e Y RIS Sl ATeT ST B fereurt ok fevsror & et YT grar 7

e 7. Temz H ek agd s[g =fh o Shiget H, AT S =eL bt fomroarett & g+t forewor <@ gerd &
Tt fopea/fasredt @ 9T

(1) T XTI 2 AT Y T 7

(2) o Y Td § S e Z Tad &

(3) YT Z T § 3w X 9T &

(4) FIT L FA 2 AFA Y G ®

'Depth of Field' can be controlled by

(1) Shutter speed. (2) Aperture.

(3) Focal length. (4) Camera — subject distance.
Teyy 31T hies' i it forar ST aeRar 7

(1) srexwdte (2) IUER

(3) BIHA A (4) FAT - Hooige fswda

What is clapboard used for?

(1) To give clues to the actor. (2) To indicate shot numbers.
(3) To mark scene numbers. (4) To sync picture and sound.
Feruane fereren foere s feRar strar 27

(1) ST T T AT (2) Iite d@&AT 3 e ok forg

(3) T T Fufad e & fog (4) forr 3R eafy o s o o o
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10.
11.

12.
13.

Partial Marks: +1.5 If all the four options are correct but ONLY three options are chosen;

Partial Marks: +1 If three or more options are correct but ONLY two options are chosen, both of which are correct;
Partial Marks: +0.5 If two or more options are correct but ONLY one option is chosen and it is a correct option;

Zero Marks: 0 if none of the option is chosen (i.e., the question is unanswered).

Negative Marks: —0.25 In all other cases.

In case of ambiguity in translation, English version will be deemed authentic. Rough work to be done on Question
Booklet.

Obijective type Answers are to be marked on the OMR Answer-Sheet, which is provided separately.

Use only Blue/Black Ball Point Pen to darken the oval(s) for answering.

. Once oval(s) is/are darkened as answer to the question, it is final. Answer option(s) once darkened cannot be changed.
. Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question

Booklet or part of it outside the examination hall.

. The right to exclude any question(s) from final evaluation rests with the testing authority.
. Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

TS I B W IR 4 IRAeT o e 11T STTAST Tie IX STawdeh STHah Wi

U | o6t AT 60 Te 71 e qRRT @I 3 LA SITE SHen! quidT shi St o

YUT-| (W, ST AT 7 35 TS T ¥ E

WAT-T | 20 T ¥l T3 T & 91 faohed (1), (2), (3) 3T (4) B 37 91 foreredt § 9 Shelel T & 961 ST 2l TAF
T o ToT Hel I o SITE forshed ol =12 i

T S o 3L ol Ao (ITTRaT Sfehe AT o STTAR feha S

qut 37k +1 TS Faret vt foreped ST TR,

[ ek ( TS otg Wit forshed 8T <A1 1T © (3791, W SN ),

TR 3Heh: -0.25 =7 Teft oyt ||

TET-ST | 15 T | T&AF T o =1 Fhed (1), (2), (3) 3 (4) B 37 IR frhedt & & vk =71 1 o S1foes a2t Sw
&) Sedieh 79 o forg, (wredh) Wt ST (ST @ weifere ferehe (ferehentt) Rt <

FtcTRaa 3ferT FISHT o STHTC T T4 o TR T Hed o (Rl SITT:

qut 37k +2 I et (@+f) we fmen(foremedt) w TR (),

TR feh: +1.5 Ffa I foered w2 & AfoR shae i forhed < MU &,

AT 3 +1 ATa I 7 AR foehes et & Ao haet af faered < TC &, ST 31 el &

AT 3 +0.5 AT T AT A1 & STk [ored Tt 2 Hfoh sharet Tep forhed =T 71T © ST I8 Ue aal fohed o

I 3i: 0 TG hig W Torered &1 <A T & (AT, T AN 3)|

TR 3Heh: -0.25 =7 Teft oyt ||

HTETE H STEATAT o6 AT H, SIS HEHLOT T FTHITUTER HIHT ST 52 GRshT 9X T e T 2

TEE YRR o I SNTHSTR IAL-0aTeh UK 3ifehet fopm St &, ST 31er & Suetey s 71w 2

I T oA ST (3T Rl 1T ot o FoT T et t/apTe siTet UTSe U ohT SUFNT i

T o I ®Y H Teh TR SRR (3T T HielT H fdm Srar 2, aF 78 sifaq 71 S foerew (faspeat) ot @& a8
SHIAT LA o ST TSAT Tal ST HehaT|

59 o IRt 2T 38k forelt T Bt e BTt 9 ARt o ST AT o S T T e ATl IHEa % foeg 3
fafarer/smafeess wrfaTe i st

Toret oft () =t Sifcr HAearieRT & STRT o T STTReRR w{ie STTaeprt o 0T 2

-G TRt o ot it g o Heer o wite dieter W TOSTeRtoT o HiFT| 379 FaTaw fHur ST SR R

This Question Booklet is to be returned on completion of the test. /
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